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QUESTION 1

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution.
This information was gathered during the Assessment Phase:

There is a performance based SLA for East — West traffic.

The business critical applications require prioritization of their traffic.

One of the services is a file share and has a high demand for bandwidth.

Which selection should the architect include in their design? (Choose the best answer.)
A. Review average North/South traffic from the core switches and firewall.

B. Include a segment QoS profile and review the impact of utilizing this feature.

C. Meet with the organization\\'s application team to get additional information.

D. Monitor East-West traffic throughout normal business cycles.

Correct Answer: B

QUESTION 2

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution.
This information was gathered by the architect during the Discover Task of the Engagement Lifecycle:
There are applications which use IPv6 addressing.

Network administrators are not familiar with NSX-T Data Center solutions.

Hosts can only be configured with two physical NICs.

There is an existing management cluster to deploy the NSX-T components.

Dynamic routing should be configured between the physical and virtual network.

There is a storage array available to deploy NSX-T components.

Which risk was documented by the architect? (Choose the best answer.)

A. Network administrators are not familiar with NSX-T Data Center solutions.

B. Dynamic routing should be configured between the physical and virtual network.

C. There are applications which use IPv6 addressing.

D. There is a storage array available to deploy NSX-T components.
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Correct Answer: B

QUESTION 3

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution.
This information was gathered during the assessment:

There must be a performance based SLA for East - West traffic.

Which two key performance features should the architect recommend? (Choose two.)

A. Configure N-VDS enhanced Data Path

B. Install advanced Edge pNIC Features

C. Setup RSS to leverage multiple cores

D. Leverage DPDK drivers

E. Enable GENEVE Offload

Correct Answer: CE

QUESTION 4

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution.
This information was gathered during the Assessment Phase:

There isn\\'t much budget available for a new off shore site.

The new site is decentralized and no communication with the main data center is required.
The design will need to cater for availability, upgrades, and failure scenarios.

N+1 must be maintained at all times.

Which three selections should the architect recommend in their design? (Choose three.)
A. Separate the hosts physical NICs for VSS and N-VDS.

B. Make all pNICs part of N-VDS and VMKs will be migrated.

C. Collapse the Management/Edge/Compute cluster.

D. Install a minimum 4 ESXi hosts in the site.

E. A Shared Edge/Management cluster and one for Compute.
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F. Install a minimum of 3 ESXi hosts in the site.

Correct Answer: ABC

QUESTION 5

What selection is the key design benefit provided by a dedicated Edge Cluster VM or Bare Metal? (Choose the best
answer.)

A. reduced administrative overhead

B. predictable network performance

C. multiple Tier-0 gateways per Edge Node Cluster

D. support for Edge Node Clusters with more than 10 Edge Nodes

Correct Answer: B
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